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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

BYiE) | GEBRTIK (B)) | EBE (EA/#) | XS ERE
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P3-15
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P3-15

BfiE) | EBIETK D) | El=E (EH/HK) | XK ERE

07:10 294 150.0 (2 =| 1Ri%e07:10 Bz (GkBERESE)
07:55 294 150.0 (Z=| 1Ri%@07:55 Bzh (REBERESE)
08:40 294 150.0 (2 =| 1Ri%@08:40 Bz (kPBFERE)
09:25 294 150.0 FE| 1BRi%@09:25 Bz (kABERSE)
10:30 294 150.0 el Ri%@10:30 Bal (REAEESE)
11:35 294 150.0 el Rige11:35 Bz (REAERSE)
12:25 294 150.0 e Rige12:25 Bz (REAERSE)
13:10 294 150.0 Bl Rige13:10 Bal (REAEESE)
14:00 294 150.0 B 1Rige14:00 B3h (REEESER)
14:40 294 150.0 BS| 1Ri%e14:40 Bz CGREMEESE)
15:25 294 150.0 S| Ri%e15:25 Bz (REERSR)
16:25 294 150.0 B 1Rige16:25 Bzh (REEESE)
249t 3528.0 (12%) 1800. 0 3ESFHKEC: 2080.0, PH: 5.7

MEREHERE STMAAEARS (195.0 : 150.0), AIEEHTF—@E XAH4
ZRIASERRIERE150. 0 ml.

large discrepency for begining water status (316:93.0), set to 316 ml.
REFREBIEC (2715.0) H5iZEEC (2000.0) REK KA, BHHE

[Bl&EC 5250.0 K&, EiXF{KECAE&HikER

HEEKECE (2715.0 vs 5250.0) 45



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=45 (2025-05-15)
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P3-15

BfiE) | EBIETK (FD) | EB=E (EH/) | XK R

12:25 294 150.0 FA| 1Ri%e12:25 Bz (REAERKS)
13:00 294 150.0 (Z=| 1Ri%@13:00 Bz (GkEBERSE)
13:35 294 150.0 (Z=| 1Ri%@13:35 Bzh (RAERSE)
14:10 294 150.0 (2 =| BRi%e14:10 Bz (GRAFERSE)
14:45 294 150.0 (B =| Ri%e14:45 Bz CGRBERSE)
15:20 294 150.0 | =| 1Ri&e15:20 Bz (RBEEE)
15:55 294 150.0 (2 =| 1BRi%e15:55 B (kAFERSE)
29t1]2058.0 (%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (191.0 :

ZRIAEBRIERE147.0 ml.

large discrepency for begining water status (277:75.0), set to 277 ml.

147.0), AlEEHT—RE XA HS

BEREMEC (2700.0) 5iZFEEC (2000.0) HEHKX, B/ET

F[EKECE (2700. 0 vs 5035.0) d 5
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P3-15_0, Day=44 (2025-05-14)

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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P3-15

BfiE) | FEBIETK (D) | E#=E (EH/) | XK EFF

05:50 294 150.0 (& =| 1Ri%@05:50 Bz (kBERSE)
06:55 294 150.0 (2 =| 1Ri%@06:55 Bz (kBHERSE)
07:45 294 150. 0 B {Ri&@07:45 Bz (REEESE)
08:30 294 150.0 AE| 1Ri&e08:30 Bzl (KRFERSE)
09:40 294 150.0 RS {Ri%@09:40 Bz (REERERR)
10:45 294 150.0 RS Ri&e10:45 Bzl (REAERSR)
11:45 294 150.0 S| 1Rige11:45 Bzh (REEESE)
12:30 294 150.0 RS Ri%e12:30 B3 (REAERESR)
13:10 294 150.0 Bl Rige13:10 Ba) (REAEHE)
13:55 294 150.0 BE| Rige13:55 BHal (REAEHE)
14:40 294 150.0 e Rige14:40 Bz (REAERSE)
15:25 294 150.0 | =| {Ri&e15:25 Bz (RBEEE)
16:40 294 150.0 (2 =| 1BRi%e16:40 Bz (kAFERSE)
249t 3822.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 6.0

FEREAERE STEAETRSE (191.0 : 147.0), AHEHATF—@AZ XFH4
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (334:63.0), set to 334 ml.
FERERIEC (2635.0) 5i&FEEC (2000.0) REK K, HHEE

¥ [E;RECE (2635. 0 vs 4622.0) 135



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=43 (2025-05-13)
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